Algebra 3-4

WS Inverse Review 1
Find the inverse of each function.

1) f(x)=3x+6

3
3) f(x)=2+zx

) £ =~

N |

7) f(x)=—2x+5

_ 3 -n+2
1) gln) = \/—2

13) g(x) =-4x-4

Name

Date

8) f(x) _ 25 - 2x

10) g(n) = —%n +%

12) h(n)=n" -3

Period



N |

14) f(x) = —%x -

16) hlx) =3 +%x

18) glx) = -2(x +3)°

15) glx)=(x-1)"-1

17) f(x) =4x-12

19) /()= Vx+1+2

21 gl =-2 -1

23) f(n) = _n1+ S+
25) /) =— -2
27) f(x) = +1

x_



28) glx) = L

x+3

-2

30) glx)=-

= W

Algebraically prove these functions are inverses.

31) fx)=(x-3)’
g(x) = \/5 -x+3

33) flx)=2-x

g(x) ‘\/5 -x+2

35) h(n) =5n-20

f(n) _ 205+ n

37) flx)=-x"+1
h(x) = 2(x + 2)5

29) hin) = - S
-n+1
3
32)g(x)=—x_2+3
3
f(x)=—x_3+2
34) f(n)=—n+%
g(n)=—4+—n
1
36) g(n)= _1+2
3
fln)=—— -2
1
38)f(n)=—1—2
1
g(n)=—n_1+3



39) hx) = Vx—1

flx)==2+2x°

41) h(n)=n+2+2

fln)=-n’+1
43) f(x)=xi1 +1
4
g(X)=—x—2 ~Z

fln)=n’-2
47) gln) = - 1

3
fln)=——=-1

gl =3
44) f() -
n+1
gd)=2 41
n
46) f(x)=—§+3
X
3
g(x)=_x+3
48) g(n)=_n3_2 +1
fln)=-—— -2



_ 3 _ 50) g(n)=2n3
49)g(x) x-1 : f(n)=\/5n+1—1
f(x)=—_x3_3 +1

Graphically find the inverse of these functions.

4
x+2

+1

51) fx)=-

- O W I g




| =

53) glx) =

X

-3

-1

[



57) f(x)

+2

)

=Y

56) g(x) =X

)

=Y



59) h(x) = —/x
+2

<Y



Answers to WS Inverse Review 1

_ Tx+8
2) o (x)=
3 ) g '(x) )

6) g_l(x) =4x -1

10) g_l(n) =4 - %n

3) f7(x) = %x - % 4) x)=1+ %x

7) f_l(x) _ —x2+ 5 8) f_l(x) _ —5x2+ 25

1) gl ) ==2"+2  12) B7n)=n+3

-1 5
13) g (W) =-1-=x 14 f_l(x)=—4—§x 15) g ()= Vx+ 141
() = 25 — _ 12 —6 -~/
16) h™(x) = 2x -6 17) f7(x) = 4” 18) g () = 010X > 1ox
) =(x=2) - _ -20+6 _ 4
19) 7)== 2 -1 20) ¢7'() === 21) g0 =
5 -x-1
-1 4 -1 1 -1 1
22) gM(x)=- -1 23) f7'(n) =- +3 24) h'(x)=— +3
-x-1 n-1 x
-1 4 -1 2 -1 4 -1
25) f7'(x) = +2 26 h'(x)=-= 27) f7(x) = +3  28) g'(x)=—— -3
xX+2 X -1 2
31) N 32) Y
29) 17 (n) = 1 30) gl (W) =—> ) No ) Yes
n-2 -x-2
33) Yes 34) No 35) Yes 36) No
37) No 38) No 39) No 40) Yes
41) No 42) No 43) No 44) No
45) Yes 46) Yes 47) Yes 48) Yes
49) Yes 50) No 51)
Ay f_l(x)__xfl_z
/ 4
L
pEESEEEE
=
Y
52) ) 5 53)
Ay 14 (x)=(x+2) -2 . g_l(x)=__x1_3
° T 2 x R TR > b 6 x
- ) =2 \\
D N
. \




54) L .
v S0 =(-1)+2
i
< J
= 2 2 4 X
\
56
: ro g'(x)=x
|
V.
~ I 4 6'x
I
'
\
58) L ,
Ay f (x)= -x+3
\\“‘
\ﬂ\
< RN
g ) ] \ uk)_x
R
60)

h_l(x) = (x + 1)5 +1

=0

55)

57)

59)

-10-

Ay

2y f-x-3
N )= >
.(\\ ?
1 4 6y
Enl
4
. 2
Ay S -2
N
~_ |\
-4\— .\}\)-’x
"\_"\

h'(x) = -(x-2)°

)



Algebra 3-4

WS Inverse Review 1

Find the inverse of each function.

1) g(n)=n+4

3) f(x)

N | =

5) g(x) _ 15 - 5x

7 f(x)=5x+5

9) f(x)

N | =

11) f(x)=%x+2

Name

Date

4) f(x)=-5x

10 - 5n

6) gln)

8) gln)

10) g(n) =-3- %n

12) f(x)=~x+2+2

Period



_yx+l
13) fx) =~/
311
15) g(x)=—Zx+T
17) glx)=-2x-2

19) gn)=(n-1)+1

21) glx)=- 21 +3
o

23) hin) = _n2+2 -2

25) flx) ==

14) g(x)=5x-4

1®uﬂﬂ=—%x+%

-4 -n

18) f(n)

20) gln)=-3n-4

22) f(n)= _n3+ S 2
24) f(x)=—xé_11 +1
26) 1) =——



27) f(x)

x+1

29) £(n) nfl

30) gla)= -+ -2

Algebraically prove these functions are inverses.

m)Mﬁ=1+z
X

A —

X+ 2

33) flx)==x-3
g(x)=5x+5

D | W

37) h(x)=2x-4
fx)=-x-4

3®tﬂﬂ=3—§x

5
h(x)=2+§x
1
3&yﬂ@=n_2—2
) —




39) /(6= (x-1)
g(x) = \/; +1

41 f(3)-~ 4

43) f(x)=x-3-2
3

o) = (x52) +

3
2+ x

45) glx)
f(x)

47) glx) =3 +2x°

() 5";3

(x+1)3+1

g(l’l) _ 3 —n2+ 3
48) g(x) _ SXZ 10
f(x) _ -3x-19




+1 50) f(x)=1—2
X

Graphically find the inverse of these functions.

51) h(x)=-x"-2 52) f(x)=2x"-2
4 Ay
R Vi 4 ¥ < 1

=\

} E
3
53) flx)==+1
X
Ay
d 55 4B 2D 4 x




54) olx)=Vx-2+1

=Y

56) g(x) = \5/;

4

%)

[N

=Y



=Y

)



60) f(x)=-

x+2

-2



Answers to WS Inverse Review 1

1) g_l(n) =n-4 2) g—l(x) _5. éx 3) f_l(x) =-2x 4) f_l(x) _ X
2 5
5) _1()(?) _ —3x5+ 15 6) g_l(l’l) _ —2n5+ 10 7) f_l(x) _ —55+ X 8) g—l(n) —6n+2
9) f(x)=2x 10) g(n) = - %n _ g 1) £ (x)=2x-4
12) £ (x)=(x-2-2 13) £7(x) = =1+ 2x° 14y ') =tes 2
5 5
15) g0 - deu 110 =B d gy 2218 )=
5
19) g7 (n)=Nn-1+1 20) g ') =-=n-= 21 g'(x)=——— +1
22) [ (n) =- SE 23) 7' (n) = - 2 24) f(x) = LB
n-2 n+2 -x+1
25) () =2 26) (M) =41 27 W= o1 28) gl =F e
X n x-3
29) f_l(n) _ 3 " _1 30) g 1(;/1) _ 1 . 31) Yes 32) No
_ -
33) No 34) Yes 35) No 36) No
37) No 38) No 39) Yes 40) Yes
41) No 42) No 43) Yes 44) No
45) No 46) No 47) Yes 48) No
49) No 50) No 51) 3
'y h 1(x) =V-x-2
IV
I
52) 53)
-1 3l X+ -1 3
Ay 4 (x)z\/Tz 2 U
[ I\
[ ANE
R + T 6oy ‘—S‘(:**\\—%\ 1\) g
\%
I i




54) 33)

U)o (v 1)3 _ 1
e : g () =(x-1+2 Y g)=——+2
I S
. S A
= 24 x Y .kt X
= ) ~——
i —4\\'
; 2R
56) L 37) .
Ay g (x)=x " f'l(x)=—; +3
4 l =
N A~
P/
5 4 b / 4 6 x 5 7 5 I e
N i
58) 59) —
) = =2(x+ 1) W)= xe3
< — > - /ﬁ X
I 1 Y 6y —‘2_/—4/—2 | / } x
_ql — [/4/
_(i Al 4 _Ur
60) A
-1 __ _
) Ay J (x) T ox+2 2
7 o T 6x
=2 ——
B

-10-



